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QUESTION 1

In a vSphere High Availability (vSphere HA) cluster, which condition can be detected by datastore heartbeating?
(Choose the best answer.) 

A. Fault tolerance virtual machine (VM) failover 

B. Network isolation 

C. Virtual machine (VM) disk failure 

D. Datastore All Paths Down (APD) event 

Correct Answer: B 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/vsphere-esxi-vcenter-server-65-availability-guide.pdf (19) 

 

QUESTION 2

Which type of network adapter is designed to provide connectivity to hosts and handle the standard system traffic of
vSphere vMotion? (Choose the best answer.) 

A. VMkernel port 

B. VXLAN virtual tunnel end point (VXLAN VTEP) 

C. Virtual machine network interface card (VMNIC) 

D. VM network 

Correct Answer: A 

Reference: 

https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.networking.doc/GUID-D4191320-
209E-4CB5-A709-C8741E713348.html 

 

QUESTION 3

How does vSphere handle memory allocation during the instant clone process? (Choose the best answer.) 

A. The first child virtual machine serves as a memory snapshot for any subsequent child virtual machines. 

B. An identical clone of the parent virtual machine\\'s memory is created for each child virtual machine 

C. Memory is shared among all child virtual machines using a delta disk. 

D. A unique memory pool is created per child virtual machine using copy-on-write. 

Correct Answer: A 
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QUESTION 4

An administrator has been tasked with mitigating datastore capacity issues without datastore expansion. Which vSphere
Storage vMotion migration option would achieve this mitigation? (Choose the best answer.) 

A. Lazy-zeroed thick-provisioned 

B. Thin-provisioned 

C. Eager-zeroed thick-provisioned 

D. Same as format source 

Correct Answer: B 

 

QUESTION 5

A virtual machine with a single 100 GB virtual machine disk file has a single 20 GB snapshot. The virtual machine is
powered off. 

How much additional free space on the datastore is required to delete the snapshot, committing the snapshot delta disk
to the base disk? (Choose the best answer.) 

A. 0 GB 

B. 100 GB 

C. 20 GB 

D. 120 GB 

Correct Answer: A 
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